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i. Refer to Table 1. The value of gross domestic product (GDP) equals

Table I
Item ' Amount (billions)
Personal Consumption Expenditures 600
Depreciation 50
Wages 800
Indirect Business Taxes 10
Rental Income 25
Gross Private Domestic Investment 150
Corporate Profits 75
Net Exports 5
Government Purchases of Goods and Services 200
Government Transfer Payments 50

2. The "Big Mac Theory of Exchange Rates” tests the accuracy of the purchasing power parity theory. If the
average price of a Big Mac in the U.S. was $3.57. In Mexico, the average price of a Big Mac at that time
was 33 pesos. What is the "implied exchange rate” between the peso and the dollar?

Answer: pesos per dollar
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1. Mary loses her job at the railroad due to a downturn in general business conditions. She is experiencing (1)
unemployment; the advice to "keep searching, there are plenty of jobs around here for which you are qualified", is

the most appropriate for _(2)  unemployment. [(1) {2)®] & seasonal, frictional, structural, cyclical £ ¥ 2 —]

2. #7456 d ¥ & do &9 £ 46 Bt # (adverse supply-side shocks)Fo F K &% (adverse demand-side shocks)Afi%
PR b FE 48 % 3 1% (recessions)
@QF®AFHFARIBNEERELFHEHH? _3)
(b) 45 A1 L 1§ A AR (Stagflation) & B 7 _(4) EH K% R AT TENAEE L5 (Real GDP) _(5) Fodpffk
# (Pricelevel) _(6)  [(5) (6)B1% L5+ & F ]

3. J47 % % (Monetary policies)
@FTTERMREZERTHEEWFRLR? (D
(b)x AS-AD B Roa7 - RATFH 845 AR GDP _(8) Fodpff (9 [(8) (9= 542 & KB 4&]
(c)GDPisa _(10) variable. (&% flow 2 stock)
(DHECEEREHLE  THERSGLB—FKTL ARFRTELH UM REFHRLBL_(D -
(e)The _(12) refers to the series of induced increases in consumption spending that result from an initial increase

in autonomous expenditures.

4. BEHR (crowding-out effect)sd it 4 - LABERELHREQWILT, BAFAFHA > BEAE_(13)
EARRMET_(14) [(13)(14)® % Lo K 48]
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